© 2024 Hansa Armaturen GmbH - www.hansa.com - 01.05.2024

58149103 HANSAUNITA - Shower system

EAN: 4015474253353

static.hansa.com/58149103

Spare parts

SP58149103
Name Code

1 Shower pipe Chrome 59913810
11 Overhead shower, d 200 mm Chrome 59913747
13 Nozzle plate, d 200 mm, (-2019) 59913751
15 Flow limiter 59913753
16 Screw 59913754
110 0-ring kit 59913808
1m Shower pipe Chrome 59913858
112 Nut 59913821
113 0O-ring kit 59913808
2 Wall support Chrome 59913859
21 Fixing set 59913812
22 Screw, M5x8, SW2.5 59904755
3 Slide for shower rail Chrome 59913755
42 Strainer 59906859
45 Gasket ring, d 21x12x2 59912304
5 Diverter body complete 59913857
5.1 Pin, M6, 21 mm Chrome 59913284
52 0-ring, d 3x1.5 59913100
53 Handle 59913817
54 Tightening nut, M37x1, AF30 59912111
5.5 Diverter 59913818
56 Adapter White 59910235
57 Non-return valve 59905714
6 Shower faucet, (-2018) 59913856
6.1 Connection nut, G3/4, AF30 59902230
6.2 Nipple 59911075
6.3 Retaining ring, 23.9x15.2x2 59902689
6.4 Filter sealing, G3/4 59911076
7 Eccentric connector, G3/4xG1/2, DN15 59910254
7.2 Silencer 59904792
74 Cover flange Chrome 59913432
75 Cover sleeve Chrome 59912651
8 Flow control handle Chrome 59913854
8.1 Cover 59913850
82 Screw, M4x8 59913851
83 Temperature adjustment limiter 59913465
9 Headpart, G1/2,180° 59911103
9.1 Ring 59913469
10 Temperature control handle Chrome 59913852
10.1 Temperature adjustment limiter Chrome 59913853
102 Temperature adjustment limiter 59913825
n Thermostatic cartridge, 2.7 59913823
11 Screw, M6x9.5 59901609
12 Thread nipple, M10x1 59913855
121 O-ring, d 8.1x1.6 59910692

Spare parts
SP58149103(2018)

112


https://static.hansa.com/58149103

AN
AYd

HANSH

© 2024 Hansa Armaturen GmbH - www.hansa.com - 01.05.2024

01
02
03
04
05
06
07
08
09
10
il

12

Name

Flow control handle

Headpart, G1/2

Filter sealing, G3/4

Temperature control handle Chrome
Thermostatic cartridge, 3.4
Overhead shower, d 200 mm Chrome
Shower pipe Chrome

Shower pipe Chrome

Wall support Chrome

Slide for shower rail Chrome

Fixing set

Diverter body complete

Code

59914208
59914207
59911076
602062V
59914114
59913747
59913810
59913858
59913859
59913755
59913812
59913857

212



